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ECONOMICS HSSCHII
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/B/C/D. Each part carries one mark.

® After deducting direct taxes from personal income, we get:
A. . Netnational income B. Net domestic income
C. Disposable personal income D. Gross national product
(i) The share of agriculture in GDP of Pakistan stands:
A 18% B. 21% C. 25% D. 28%
iii) ‘Cheque’ is which type of money?
A. Legal money B. Credit money C. Paper money D. Convertible paper money
(iv) Which of the following taxes shows the initial and final burden on the same person?
A Income tax B. Customduty C. Sales tax D. Excise duty
(v) To protect the domestic infant industries, a country adopts the policy of:
A Free trade B. Protection
C. Exchange control D. Reduction in custom duty
{vi) How many stock exchange markets exist in Pakistan?
A 3 B. 4 C. 5 D. 6
{vii) The largest share in Pakistan's export is of:
A Wheat B. Textile C. Cement D. Sports goods
(viii)  Literacy rate in Pakistan is:
A 52% B. 56% C. 54% D. 58%
(ix) How is percapita income calculated?
A National Income B Agriculture Income
Personal Income ‘ Net National Income
National Income D Personal Income
Total Population ' Labour Force
(x) Which is the largest sector of Pakistan’s economy?
A Industrial sector B. Telecommunication sector
C Mining sector D. Agriculture sector
(i) Which of the following criteria is the best to measure the economic development of a country?
A Percapita income criterion B. National Income criterion
C. Social Weilfare criterion D. Human deveiopment index
(xii) The most successful five-year economic plan of Pakistan was:
A 2nd five year plan B. 3rd five year plan
C. 4th five year plan D. 5th five year plan
(xiii) If a clerk is promoted to the post of Head clerk, this type of mobility is called:
A Vertical mobility B. Horizontal mobility
C. Geographical mobility D Social mobility
(xiv)  The main reason of Cost-push inflation is:
A Increase in demand B. Increase in foreign exchange
C. Increase in production D. increase in cost of production
(xv) Fiscal year in Pakistan starts from:
A st January B. 1st March C 1st June D. 1st July
(xvi)  What is the fixed rate of Zakat?
. A 1.5% B. 2.5% C. 5% D. 1%
(xvii)  The population growth rate in Pakistan is around:
A 3% B. 2% C. 4% D. 1%
(xviii)  The main source of government revenue is:
A Loans B. Printing of new currency
C. Fee D. Tax
{xix)  What is deducted from Gross National Product to get Gross Domestic Product?
A Direct taxes B Subsidies C.  Indirecttaxes D. Foreign remittances
(o) Pakistan is ranked as:
A Developed country B. Developing country
C. Industrialized country D. "~ Backward country
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ECONOMICS HSSC-II

Time allowed: 2:35 Hours _ Total Marks Sectiens B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
' (15 x 3 = 45)
(i What do you know about transfer payments?
) What is depreciation allowance?
(iif) Write down any three instruments of credit money.
(iv) Write down any three demerits of internationai trade.
(v) What is balance of Payments?
(vi) What is Multinational corporation?

(vii) Point out any three important industries of Pakistan.
viii)  Define Economic development.
iX) Suggest any three measures to raise agriculture preductivity in Pakistan.

X) Point cut any three problems of industrial sector of Pakistan.

(
(
(
(xi) What is meant by horizontal mobility?
{xii) Write down three benefits of Roads.

(xiii)  Write down any three instruments of monetary policy.

(xiv)  Write down three suggestions for improving living standard in Pakistan.

{xv) Point out three heads of expenditure of federal government.

(xvi)  What is meant by ‘Equality’ in Isiam?

(xvii)  What is capitalism?

(xvii) What is meant by deficit financing?

(xix)  What could be any three measures to resolve the problems faced by industrial sector of Pakistan?
(xx) Mention any three factors which create obstacles in mobility of labour.

(xxi)y  Suggest any three remedial measures to resolve the issue of unempioyment in Pakistan.

b. Attempt any ONE part. (1x5=35)

(i) Demand-pull inflation.
(i) Cost-push inflation.
SECTION — C (Marks 30)

Note: Attempt any THREE questions. All questions carry equal marks. (3x10=30)
Q.3  Explain the ‘product method’ in the measurement of National income. What precautions should be kept
in mind under this method?
Q.4  Whatis meant by commercial bank? Explain the different functions of a commercial bank.
Q.5  Criticaily evaiuate comparative cost thecry of international trade.
Q.6  Explain the role of Zakat in the social justice of a society.

—— 2HA 1614 ~——
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